Perform the indicated operation. Reduce each answer to the lowest term
a)       3___     _      ___ 3____
           2y                      2y + 4
b)       4___     +      ___ 2___     +        2       _
           3n                        n+1                 n2 + n
Simplify each complex fraction. Reduce each answer to lowest term:

a)    1     +       1
          3               y

_________________

         Y       _      3
         3               y
b)    ab     +       b2
                  4ab5
_________________

         a   +     b 

             6a2b4
Solve each equation:

a)   a   + 4         =        a   + 4
              2                           a
b) 4w-1           _     w- 1           =   w-1
      3w +6                     3                  w+2
